
Completion Time Error Rate Confidence Easiness

Find 
 relationships

76.01

68.59

PAOH

HSL

0 50 100 150 200

7.42

PAOH−HSL

−100 −50 0 50 100

0

5.56

PAOH

HSL

0 10 20 30 40

−5.56

PAOH−HSL

−40 −20 0 20 40

0%

0%

100%

94%

0%

6%PAOH

HSL

100 50 0 50 100

0%

0%

83%

78%

17%

22%

PAOH

HSL

100 50 0 50 100

Characterize 
 relationships

54.57

62.97

PAOH

HSL

0 50 100 150 200

−8.4

PAOH−HSL

−100 −50 0 50 100

5.56

11.11

PAOH

HSL

0 10 20 30 40

−5.56

PAOH−HSL

−40 −20 0 20 40

6%

6%

94%

83%

0%

11%

PAOH

HSL

100 50 0 50 100

6%

0%

89%

78%

6%

22%

PAOH

HSL

100 50 0 50 100

Similar entities
101.34

128.39

PAOH

HSL

0 50 100 150 200

−27.05

PAOH−HSL

−100 −50 0 50 100

16.67

11.11

PAOH

HSL

0 10 20 30 40

5.56

PAOH−HSL

−40 −20 0 20 40

17%

17%

83%

83%

0%

0%

PAOH

HSL

100 50 0 50 100

11%

22%

61%

56%

28%

22%

PAOH

HSL

100 50 0 50 100

Massive events
141.62

109.83

PAOH

HSL

0 50 100 150 200

31.79

PAOH−HSL

−100 −50 0 50 100

11.11

11.11

PAOH

HSL

0 10 20 30 40

0

PAOH−HSL

−40 −20 0 20 40

0%

22%

78%

50%

22%

28%PAOH

HSL

100 50 0 50 100

17%

28%

56%

44%

28%

28%PAOH

HSL

100 50 0 50 100


